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THEOREM : Ex
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What happens if this isn't
the case ?
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Expected result : ALGRORITHM (SPECTRAL CLUSTERKG)

z Input : 1 R
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· Constructi L = D-W

·
(k)

·Find u- UelR-eigen-Vers.
T 3

x corresponding to X,
12 - - ,

th Clowest)

If se have "nice enough" clusters
·Constructi 8-(4

,_ (
vertices in the same cluster 66 ↓

will lie next to each other
.

· Map : Vi = Ri (i-th row) ER"
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CONCLUDING REMARKS EX
.

... - . - . -. - .
A= 0

.
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· Adding new points - need to run

-
.

everything all over again. i- A

-
a

Ac= 0
.
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(as opposed to -means
,
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· K-num
.
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* ·

in advance. 1
.
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· Weakness- may fail for clusters ·
72= 6 .

with varying densities.

· C is connected if
↓

measures "how sell"
the graph is connected


